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Part A: Grammar and Vocabulary
Directions: Questions 76-85 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or
phrase that best completes the sentence. Then mark your answer sheet.

76-

77-
78-
79-

86-
87-
88-
89-
90-

Our teacher didn't explain some of the ---------- points well; that's why the students have
problems.

1) confuse 2) confusedly 3) confusing 4) confused

I've offered her the job, but I don't know ---------- she'll accept it.

1) whereas 2) since 3) because 4) whether

Peter isn't ---------- about his job. He goes to work late almost every day.

1) such a serious 2) too serious 3) such serious 4) serious enough
A: "There was so much traffic yesterday."

B: "You ---------- metro. It would have been much better."

1) must take 2) should take 3) should have taken 4) must have taken
The company provides some ---------- on how to operate any computer.

1) destinations 2) instructions 3) organizations 4) involvements
The results of the research are ---------- at the end of the chapter.

1) summarized 2) stretched 3) raised 4) decreased
Many adults seem to know little about some of the most ---------- sciences.

1) emotional 2) elementary 3) voluntary 4) repetitive

This medicine will ----------- the illness from getting worse.

1) enhance 2) react 3) prevent 4) disturb

Most high buildings are ---------- in the north of our city.

1) located 2) interested 3) attached 4) entered

My teacher told me to brush my teeth and see my dentist ---------- .

1) entirely 2) regularly 3) similarly 4) possibly

Part B: Cloze Test
Directions: Questions 86-90 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

The story is about a young woman who graduated from college with an engineering (86) ----.
After college, she worked for a small Internet company (87) -------- . Her friends, on the other hand,
worked for famous companies (88) -------- high salaries. She was (89) -------- and thought about
leaving her job, but she didn't. Now that she has a high position in her company she is happy about
the decision she (90) -------- at the time.

1) environment 2) experience 3) field 4) degree

1) that sold books 2) sold books 3) which it sold books 4) for books to sell
1) pay 2) to pay 3) paid 4) paying

1) excited 2) financial 3) concerned 4) severe

1) got 2) made 3) did 4) took
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Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. The passages are

followed by some questions. Answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark your answer sheet.

PASSAGEL:

Suppose a piece of iron were being divided up into smaller and smaller parts. Could the dividing
go on for ever or would there be a point when some very small particle could be divided no further?
Early scientists thought and argued about this question. A Greek philosopher called Democritus,
about the year 400BC, taught that all substances are built up from grains which cannot be
subdivided. He used the Greek word aromos to describe these grains; atomos means undividable
and gives us our word atom. Democritus taught that all matter is built up of atoms or tiny bits of
elements. (An element is a substance made up of atoms which are all alike but different from the
atoms of any other element).

Even the Greeks at this time realized that the atom was very small and they could not obtain just
one separate atom of an element. More than 2,000 years passed before any important advance was
made in man's knowledge of atoms.

In 1807 John Dalton, a British chemist and mathematician from the English county of
Lancashire, produced his famous atomic theory.

When did Democritus live?

1) In the 1600s 2) In the 1700s

3) About twenty-four centuries ago 4) About four centuries ago

The word "which" in line S refers to ---------- .

1) grains 2) substances 3) atoms 4) parts

It can be understood from the passage that early Greek philosophers' knowledge of matter
WAas ==-==nm=nn= .

1) incomplete 2) experiment-based

3) related to their analysis of iron 4) based on an accurate understanding of atoms

The meaning of which of the following words is given in the passage?

1) grain 2) element 3) particle 4) atoms

Which of the following statements is false, according to the passage?
1) The word atom has a Greek origin.

2) John Dalton worked in two scientific areas.

3) It took man a long time to develop his knowledge of atoms.

4) The question dividing particles was of no interest to Greek thinkers.
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PASSAGE2:

Voltaire is the pen name of Francois Marie Arouet (1694-1778), the greatest of the writers and
thinkers who lived in France in the 18th century, during the years leading up to the French
Revolution (1789-99). He lived a long life and he never stopped writing about the right of a person
to be free and to think for himself. He attacked the government for oppressing people's lives. He
also attacked the Church which, he felt, did not allow freedom of faith. He pointed out all the
weaknesses of the society in which he lived and helped to prepare the way for the French
Revolution.

Francois Marie Arouet was born in Paris. He attended the Jesuit college of Lous-le-Grand in
Paris, and there learned to love literature and theatre. He became the fun of Parisian society, but was
always in trouble with the powerful people whom he mocked and wrote about. Before he was 24 he
had been exiled from Paris and then imprisoned in the Bastille. Following the success of the first of
his plays, Oedipe, in 1718, he took the name Voltaire.

From 1726 to 1729 he lived as an exile in England. He saw a society where there was far more
freedom than he had known in France and far greater tolerance for the opinions and beliefs of
others.

Back in France, Voltaire turned his interest to history and philosophy, and in 1734 published
Lettres philosophiques (Philosophical Letters), a landmark in the history of thought. This outspoken
work caused such a stir that he was again in trouble with the political and religious authorities, and
he fled to the chateau of a friend at Cirey in the Champagne region. Here he lived with Mme du
Chatelet for 15 years, studying, writing, and from time to time travelling in Europe.

What is the best title for the passage?

1) Rise of a Revolution

2) Voltaire's Life and Works

3) Voltaire's Difficult Political Life

4) Effects of Voltaire's Ideas on France and England

Which of the following is NOT true about Voltaire?

1) He died in his 80's.

2) He was against the government of his time.

3) He experienced the French Revolution.

4) He cared about the society in which he lived.

What is true about his first piece of writing for the theatre?
1) It was written in the early 18th century.

2) It was a play that was not welcomed by people.

3) It was written in a place known as the Bastille.

4) It was not staged at any theater due to the influence of some powerful people.

The word "others' in line 15 refers to ---------- .
1) people 2) opinions
3) societies 4) freedom and tolerance

What Voltaire published in 1734 ------------ .

1) was on the topic of the philosophy of history

2) made some authorities want to punish him

3) seemed to have been the result of 15 years of studying and traveling

4) was liked by one of his friends who invited Voltaire to travel to his place





